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Mental Abacus
Add up the sums down each column by using the flash card.

1 2 3 4 5 1 2 3 4 5
56 25 92 22 83 53 36 64 57 45
51 8o 22 65 38 91 96 23 88 47
35 57 19 46 24 24 47 46 43 23
A -39 50 -73 77 33 23 83 63 26
25 32 11 46 49 92 74 48 53 -53 y
33 81 15 77 60 76 70 L4 66 86 g
83 9% 32 15 45 -23 27 79 67 68 |5
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Complete the sums down the columns before checking your answers against the green boxes.

il

1 2 3 4 5 6 7 8 9 10
3,527 2,050 4,528 2,568 1,824 369 959 2,009 3,950 4,617
5,897 3,563 3,926 1,767 778 1,658 2,271 2,460 1,176 1,738
-1,509 3,165 -1,448 1,348 1,286 412 -749 1,648 1,273 2,399] ..
-570 930 3,158| -1,219 2,710 3,285 4,643 2,948 224 4,968 %
-4,072 403| 2,142 304  4,692| 4,137 -448| 0.4,638] -1,030 144 %
£
=
1 2 3 4 5 6 7 8 9 10
2,476 1,138 7,577 3,229 1,088 3,286 4,378 4,921 1,228 977
3,476 2,449 -240 522 .1,979| 3,464 -615| -2,994| 1,986| 2,066
2,114|  4,433| 2,665 388| 2,516/ -3,780| 3,986| 2,874 1,351 3,099| ..
4,073 1,512 1,083 4,796( < -2,586 2,485 2,008 4,300 1,048 1,025 %
2,137 751  -3,731] -2,471) -2,787| 1,118 838 -2,194|  4,477| 2,522 ”ﬁ
£
=
Top 13,866 5,593 6,676 13,703 3,273 10,122 | 12,306 4,768 11,290 9,861
Bottom 9;689 10,090 | 10,595 6,907 14,276 | 10,283 7,354 6,464 210 6,573
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Classroom Activities
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427 73 121 196 304 121

153 77 bty 188 Lty 123

48 66 71 Circle numbers which 112 144, 177

add up to 300.

99 157 185 200 157 343

242 277 23 100 143 43
Circle numbers which are divisible by 3 witheut remainder:

778 895 180 695

537 273 384 234 459 198
591 213 736 153 1,343
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Multiply these! i/
Table1 Table 2
1 52 X 66 = 1 36x87= Table1 | Table2
2 75X 67 = 2 63x33= Score:
3 |46Xx57= 3 |74%53= Time:
4 [62x56= 4 85X 54=
5 |56x87= 5 [93x89=
6 82x29= 6 66 x 67 =
7 |58x33= 7 |41%3573
Check your
8 |91x97= 8 |s6x77= answers against
9 69x 27 = 9 20 X 53 = each table.
10 63X 74 = 10 84 x75= ’
Answer box (Table 1) Answer box (Table 2)
5,025 3,472 27378 8827 | 4,662 3,132 2,079 | 4,590 | 3,922 8,277
3,432 2,622 4,872 1,914 1,863 1,435 4,422 4,312 3,127 6,300
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Mental Abacus (Multiplication)

T Flamiige Series

1 16x15 =
2 24 X14 =
33Xx22 =
34x18 =

18x15 =

3
4
5
6 42X 24 =
7 14 x26 =
8 33x28 =
9 51x18 =
10 |25x13 =
11 |12x71 =

12 63x22 =

—I, i ;T/ \T,‘ nl—,
N N o
AR AR AR 4

Score [ Time:

Check your answers against the box below.

13 [23x23 =
14 |99x21 =
15 31X33, =
The Abacus [l Club

529 325 364 612 726
2,079 852 924 270 336
1,023 1,386 918 1,008 240
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